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QUESTION 1

A constraint in a table is defined with the INITIALLY IMMEDIATE clause. You executed the ALTER TABLE command
with the ENABLE VALIDATE option to enable the constraint that was disabled. 

What are the two effects of this command? (Choose two.) 

A. It fails if any existing row violates the constraint. 

B. It does not validate the existing data in the table. 

C. It enables the constraint to be enforced at the end of each transaction. 

D. It prevents insert, update, and delete operations on the table while the constraint is in the process of being enabled. 

Correct Answer: AD 

 

QUESTION 2

You have issued a SHUTDOWN ABORT command to bring down your database instance. Consider the steps that will
be performed later when you open the database: 

1. 

SGA is allocated. 

2. 

Control file is read. 

3. 

Redo log files are opened. 

4. 

Instance recovery is started. 

5. 

Background processes are started. 

6. 

Data file headers are checked for consistency. 

7. 

Server parameter file or the initialization parameter file is read. Which option has the correct order in which these steps
occur? 

A. 7, 1, 5, 2, 3, 6, 4 

Latest 1Z0-052 Dumps | 1Z0-052 Exam Questions | 1Z0-052 Braindumps                                2 / 4

https://www.passapply.com/1z0-052.html
https://www.passapply.com/1z0-052.html
https://www.passapply.com/1z0-052.html


https://www.passapply.com/1z0-052.html
2024 Latest passapply 1Z0-052 PDF and VCE dumps Download

B. 1, 2, 3, 7, 5, 6, 4 

C. 7, 1, 4, 5, 2, 3, 6 

D. 1, 7, 5, 4, 2, 3, 6 

Correct Answer: A 

 

QUESTION 3

The HR user creates a stand-alone procedure as follows and grants the EXECUTE privilege on the 

procedure to many database users: 

CREATE OR REPLACE PROCEDURE create_dept ( v_deptno NUMBER, v_dname VARCHAR2, v_mgr 

NUMBER, v_loc NUMBER) 

BEGIN 

INSERT INTO hr.departments VALUES (v_deptno, v_dname, v_mgr, v_loc); 

END; 

The users having permission to execute the procedure are able to insert records into the DEPARTMENTS 

table even though they do not have the INSERT privilege on the table. You want only those users who have privileges
on the DEPARTMENTS table to be able to execute the procedure successfully. What would you suggest to the PL/SQL
developers to achieve this? 

A. Create the procedure with definer\\'s right. 

B. Create the procedure with invoker\\'s right. 

C. Grant the EXECUTE privilege with GRANT OPTION on the procedure to selected users. 

D. Create the procedure as part of a PL/SQL package and grant the EXECUTE privilege on the package to selected
users. 

Correct Answer: B 

 

QUESTION 4

Which three are true about the Automatic Workload Repository (AWR)? (Choose three.) 

A. It is maintained by executing the PL/SQL procedures in the DBMS_STATS package. 

B. It includes statistics that contain the number of distinct values per table column. 

C. It includes statistics that contain the number of rows per table. 

D. AWR data is stored in the SYSAUX tablespace. 
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E. Automatic AWR snapshots are created by the Manageability Monitor (MMON) background process. 

F. By default, AWR data is retained for eight days. 

Correct Answer: DEF 

 

QUESTION 5

Which is true about the Automatic Diagnostic Repository (ADR)? 

A. It only contains the alert log and trace files for background processes 

B. Its location is always set by the ORACLE_BASE variable 

C. It is used only if the DISGNOSTIC_DEST parameter is manually configured 

D. It includes diagnostic data for critical errors for each server and background process 

Correct Answer: A 
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